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BIessen : (1) S00|Eses VD83 (DEDER, EIROMP HOBD0B0E. B E00T DFB0E

€3 DRATTR), DO TS ATPHED 236050 BOATZATV0E.

2) TAOERE S00aT0 WoEB R Do B0 S Fesy Sord Voo
SPBR0 GDBIA0H0E. DBDEPOSD PYS GDABIA0B0E.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

gro -1 /PART -1
HOS 1 (1) o D6 Jrerdo aod. 20x1=20

(i) 2XES Teoid (DEgXcire ol TPXH T DBHK earend oD 3
@S S8 H8ckn D00HS 235a0d (FPAE.

Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.
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1. 558 JBgHOTR 0870 963 -

(@) ©BE 509 b) TS TAYy
(C) e3850 9@&&% (d) %"5&050306 PN
The author of scarcity definition is :

(a) Alfred Marshall (b) Lionel Robbins
(c) Adam Smith (d) Samuelson

2. TOROTOIE 508 D59 esodd
® @

(a) B370& SISERNIVS (b) (85235 508 D598

() B3 RTVIaRe) 508 S5 (d) 5°Cyed SISERNI VY
Traditional economy is a :

(a) Command economy (b) Monetary economy
(c)  Subsistence economy (d) Market economy

3. N0, JETR0 $o0050 TV 980
(@) EATETe HE5T
(b) Cbrocsy $055e
(€) &8 I Sobakw wde HE55e
(d) Soseo 3056

Necessaries, comforts and luxuries are :

(a) Classification of utility

(b) Classification of demand

(c) Classification of free goods and services
(d) Classification of wants

4. JIAITREEED QOO @008
(a) GO0 =0T (b) &Srotsy > SEHo
(€) Rogrdy OB —ded KO (d MVn=TVn-TVn-1
Consumer surplus is :

(a) Demand=Supply (b) Demand > Supply
(c) Potential Price — Actual Price (d MVn=TVn-TVn-1



€08 (DATES0 BTy ©00IDHYED
0080 HABITBI0 DEHEO (@FEOFRDBO0R
3080 (BO3T7esR0 B0 EPEogNIHBEN

(a
(b
(0 3o EATeso sIFZTrad IoEotwod
(d) SooBo PA3resvo NEProd BEEoened

When marginal utility becomes Zero :

(a) The total utility starts increasing

(b)  The total utility starts decreasing

(c)  The total utility reaches the minimum
(d) The total utility reaches the maximum

ESTO%EE" B DE° BTDEIB0E ?
a) GSrots SECP 10 HotD)

b) Gdroks SECp SR Do)

Q) GEroed HED oy, $600

d) @8 &Srots SE3p P SO

Increase in demand is shown by :

(
(
(
(

(@) The highest point on the demand curve
(b)  The lowest point on the demand curve
(c)  Shifts of the demand curve

(d) Movement along the same demand curve

GRT0L) G, ePSBgoBt TGS w000 EETEERONHYEE

a) X $0B010 Y H5500 HEgSIoigond

€)X S0Ban Y H805en $02005550 829

d) X 508aK0 Y 280500 QP08 $00)
When cross elasticity of demand is negative :
(@) Xand Y goods are substitutes
(b) Xand Y goods are perfect substitutes
(c) Xand Y goods are not related
(

(
(b) X S00ain Y H0500 HoRIY BErgoosres
(
(

d) Xand Y goods are complementary
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10.

D30T g0 clodsy, Dot S¢

(@) 2828 8 &otnod

(b) ASro 5765 eod = D800 B o
(€ &30t HESP DTHT> SESPSO PO
(d) 2% DTN

At the point of equilibrium :

(a)  Only one price prevails

b) Quantity demanded = Quantity supplied

(
(c) The demand curve intersects the supply curve
(d) All the above

&5y 3D BIDH0H
@) oo SrOG (b) roSHES

() (EC3resdx000 T8R800 (d) E03resst008 50300
Production refers to :

(a) Exchange value (b) Technology

(c)  Destruction of utility (d) Creation of utility

DesaTD0BOTD TTRIE OGN :

(@) &5 TOTo IV FoBFeETross YOI
(b) O 8555 380 BT

(€) g0 IRTOTE

(d) BT BIEOTT GobTE

A successful entrepreneur is one who :

(b
(c)  Accepts innovations
(d) Avoids risks

(a) Decides different combinations of factors of production
)

Pays the lowest wage
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12.

13.

14.
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R1e Q350500 B gPAcTT 008

() TVC/Q (b) AC/Q () TC/Q (d) TFC/Q
Average fixed cost is obtained by dividing :

(a) TVC/Q (b) AC/Q (© TC/Q (d) TFC/Q

20 (erds HEDP e90eT 8.
(2) OYSIE Dt DgEIES (b)  Dgoysds Bt DgalHES
(c)  dreas Sgam HEB (d) &arod 500 HES

is called the planning curve.

(a) Long run average cost curve (b)  Short run average cost curve

(c) Average cost curve (d) Marginal cost curve

2.5 00 D 65¥5° D3oFoghdo PO :
(@) MR=AR (b) MR=AC (c) MC=MR (d) MC=AC
A firm can achieve equilibrium when its :

(@) MR=AR (b) MR=AC () MC=MR (d) MC=AC

Rog el 8ot Gurots SESY -
(a) &S0 e (b)  Jdeogr

(€) &8 OF ren (d) DB
Under perfect competition, the demand curve is :
(a) Downward sloping (b)  Vertical

(c) Upward sloping (d) Horizontal
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15. 55908350 3 D8R, 05e0

(@) rozrnsg e (b) BE NS5
(0) Nouey Fed (d) HoTeBS0
Product differentiation is the salient feature of :

(a) Monopolistic competition (b)  Duopoly
(c) Perfect competition (d) Monopoly

16. Sro es08 $g9:8° Soson 080y ;
@ 9] @ <
(@) ¢ SoBawO (3550
(b) (3355 W0 500K 5% Dgriso
(€) SEraDo So0akw &rd

(d) &8 3000 &y

The central problem of Macro Economics is :
(a) Interest and Money

(b)  Monetary Policy and Fiscal Policy

(c) Income and Employment
(

d) Price and Output

17.  esorah ITEe S6¥ daosdy sdoneds, 85 Ko edArRoT .
(@) &S Bodak0 B5o00
(b) 1oea50 Ho0AK0 JNSBTETSO
(€) DABIO BB el

(d) D60 GETos 550050 Bt BEPTe

To explain the simple theory of income determination, Keynes used
(a) Production and Expenditure

(b) Multiplier and accelerator

(c) Consumption and investment

(

d) Aggregate demand and aggregate supply
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19.

20.
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DI (BIoctio 508ak0 5065 Mo How0Grd) VD808,
(a) &880, L0 (b) g0, ?,Jéaegaa&

() AVAATNO, 8T 0 (d) g0, VAV

Consumption function explains the relationship between and

(@) Income, Savings (b) Expenditure, Investment

(c) Consumption, Income (d) Expenditure, Savings

(E5:55 DT DO 55 908 2
(@) oS ergos (b) @33@@ sorio
(0 Sol Eahso (d) TR BEdSo
Monetary policy is controlled by :

(a) Central Bank (b) Private Sector

(c) Central Government (d) State Government

838 &2 2338 3O Aa Jo° BONEITLS 2

(a) S8 Sodsyso (b) 5GAE HDoHsyso
(€) &8 Sodeto (d) 08 Dod&yto

In zero based budget every year is considered as a :

(@) New year (b) Academic year

(c) Base year (d) Financial year
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21.

22.

23.

24.

25.

26.

27.

eriico - II/ PART - II

QP AN (HHPE WTL0LO A0, (5P Do 30 B0,

Answer any seven questions and question number 30 is compulsory.

08 5558 2 By STES ABGHTRY 67,050,

State Alfred Marshall’s definition of Economics.

o505 Serey DD 9

What are the causes of wants ?

GO0 5"555{5@50 Seen D 9

What are the types of elasticity of demand ?

RH50POCES / TSR B Botso) @Te I 9

What is break even point ?

8 ABeas> Sotis JeoHew A 2

What are the two conditions for price discrimination ?

288 DBoTSHe esm Do 9

What is transfer earnings ?

Y0 gTeastos e D0 2

What is quasi-rent ?

7x2=14



28.

29.

30.

31.

32.

33.

34.

& 0% DTN 5D & MBS0 @K,

Give the formula for Marginal Propensity to Consume.

BOSTETEE DEI 0 BEBH0e D ?

What are the instruments of quantitative credit control ?

@8 DS DES) $50) A§B5530:85 VSO0HB0.

State the Definition of a tax According to Prof. Seligman.

griio - III / PART - III

DT N> (DB TP (FOK80. (5T Hops 40 B0,

Answer any seven questions and question number 40 is compulsory.

e3C50 P HOBEP FND DBHTRAS FMND DBoTeDs $0FDoYH.

Examine the criticisms against Adam Smith’s wealth definition.

B30 80T gdry GI0E), MIEIVIOI D000

Explain the merits of a mixed economy.

&9 eSTTe SE S A DDH0A.

What does a production possibility curve refer ?

A 350850 P VRS E°0T000.

Write a short-note on Giffen Paradox.

1348 (NP)

7x3=21
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35. 5005 $g5d SHeFey o Jo ATOLLo ?

How is equilibrium price determined in the market period ?

36. LTS JPOEALE Do A 9

What are the functions of entrepreneur ?

37. IREEITG) 9o e gres 3D 9

What are the methods of controlling monopoly ?

38. GOl GEPYIEES BobE) REToBH HOIEd 9D 2

What are the limitations of Marginal Productivity Theory of Distribution ?

39. BO¥ esmrom AToEp 85y &S, Eoabeo 9 2

What are the assumptions of Keynesian theory of Simple Income Determination ?

40. 5% IABoA HEHSE” ABATg FeyEEe DHBOYB0.

Explain the difficulties of barter system.

eriio - IV / PART - IV

W) (DEHVLO 23T°e000 (F K. 7x5=35

Answer all the questions.

41, (a) TESFDPCI0 C3o0E), DPEOND HOEANN0RY S08ATN FETER0 XBORIN.
S
(b) 60 Go8 PATeES AALETR) HEHD DEHE0 SIS JNBOD.
(a) Explain the features and any four merits of socialism.

OR
(b)  Describe the Law of Diminishing Marginal Utility with a diagram.
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43.
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TS SECH D5 B0 D 2 DASTTHT B SRT OB SIS SESPR
G033PR0W DXB0)RD.

S

&ITot Gy, $B TE w0 Sos Dotk TRy DFSBTT IBSO0H.

What are the assumptions of indifference curve analysis ? Explain consumer’s
equilibrium using indifference curve approach.

OR

Explain the point method of measurement of price elasticity of demand in detail.

EBT0E DEBH0000 DEB0800. GBTP0 HIEGH0005 oTEa00)e0 O 2
S

RSB o5 §8 ATBeso DGHL0 SIS’ DHBOYB0.

State the law of demand. What are the exceptions to the law of demand ?
OR

Explain the determination of equilibrium price with a diagram.

DITSEE SECPe0 I A 7 T OFETOHD F0K500.
S

2.5 503 M0E7,R VG Dgoresd DIBOPH®.
What are isoquants ? Describe their characteristics.
OR

Explain various costs incurred by a firm.
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45.

46.

47.

(a)

12

5oy 0y S 555 G0t 55 500G &ty DTEs Jo° eaTOBR 2
S

o0 2% ol §55 BoB0I & ITBEatd IBBOH00.

How is price and output determined in the short-run under perfect
competition ?

OR

Explain the price and output determination under monopolistic competition.

Soes C3o%;, TTRANS AEToBHR0 $03D0HI.
S

2.8, % GBoo%), 573,65 OB JoBTEEOT $OFD0H0.

Examine Ricardian theory of RENT.
OR

Critically examine ].B. Say’s Law of Markets.

@5265 D050°83 ?OCFQ"Oe‘ébooéJ AIBODHR.
S

§% D0 T30y, DPT° 00 esFATTOB DDBOB®.

Describe the quantity theory of money.
OR

Explain any five of the objectives of fiscal policy.
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